How To Read Notation And Tabulature In This Book

J =80 b ) This "1" next to the note means

n 1 beat cat beats 4 beats play with index finger of left hand
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A long line that connects several notes is a phrase mark.
Think of this as connecting notes to make

A a musical sentence.
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| \ | | The number "3" on this line, means
The numbers represent "3rd fret-5th string"
which fret, and on which string
the note should be played.

The connected two staves are read as one staff. The top staff is written in standard music notation.

The bottom staff is written in guitar tabulature. When reading this book, do not confuse the fact

that there are four staves, but only two parts. The purpose of the tabulature is to provide context for
those who are still learning standard music notation. If the reader is only familiar with tabulature, then
one should use the top staff as a reference for note duration (quarter note, half note, etc.)

Small numbers next to a written note represent which left-hand finger should fret the given note.
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No. 4 Unison Melody

Bartok
d=90
7 7 | |
Classical Guitar 1 | - | | ® | . | == — E
e) [ ) ) ) [
8

0 0——1—0—1-0 0
—F—0-1-3 1-3 3—1-3 3 3—1——0—1—3——1—|
Classical Guitar 1 ]é I
D 1

Classical Guitar 2 ﬁ I
= _‘ [ V= =

T I
Classical Guitar 2 A 0 0-2——0—0—-24+3-—2-14+320—-2—0 0 1
B—2-3 +-2-3 —3—{

3 3 3
I N I O O N O A N



Mikrokosmos 6.
No. 5 Unison Melody
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No. 7 Dotted Notes
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No. 9 Syncopation
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Mikrokosmos
No. 10 With Alternate Hands
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Mikrokosmos 12.
No. 11 Parallel Motion
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No. 12 Reflection
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Mikrokosmos 14.
No. 13 Change of Position
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No. 14 Question and Answer
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No. 15 Village Song
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No. 20 Four Unison Melodies
Bartok
J: 100
o)

Classical Guitar 1 (ﬁ@! % 1 — e — = = —
Y
T 3 3—1 3—1 3 0

Classical Guitar 1 KD 0—2 0 02 20
| =)

o o 1 T I o
4}

Classical Guitar 2 ﬁ - - -
o/ O & & I T T g 2O
LG L
T

Classical Guitar 2 [ [A — 1o 0 0
-B—0 3 0 3——0 2

3 3 3 3
I I (. I I I I I I I I I
9
)
\J
ANV © ©
[Y)
8
Guit. 1 17“2—0——2 01 PR — S P —10
B
T N T A T R A B O
4}
\J
Guit. 2 (s
SV
Y & Iy 97 479 4 T v S5 49T i —
\_/v
T
Guit. 2 A 0
373—0?—0—2—3——0—2—0 ; 0— —3 3 5



Mikrokosmos 24.
No. 21 Four Unison Melodies
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No. 23 Imitation and Inversion
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No. 25 Imitation and Inversion
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Mikrokosmos 31.
No. 26 Repetition
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No. 27 Syncopation
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No. 28 Canon at the Octave
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No. 29 Imitation Reflected
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No. 30 Canon at the Lower Fifth
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No. 31 Dance in Canon Form
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No. 32 In Dorian Mode
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No. 33 Slow Dance
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Mikrokosmos 41.
No. 34 In Phrygian Mode
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Mikrokosmos 43.
No. 35 Chorale
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Mikrokosmos 45.
No. 36 Free Canon
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Mikrokosmos 47.
No. 37 In Lydian Mode
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Mikrokosmos 49.
No. 38 Staccato and Legato
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Mikrokosmos S1.
No. 39 Staccato and Legato
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Mikrokosmos 53.
No. 40 In Yugoslav Style
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No. 41 Melody with Accompaniment
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Mikrokosmos 57.

No. 42 Accompaniment in Broken Triads
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Mikrokosmos 59.
No. 45 Meditation
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Mikrokosmos 61.

No. 46 Increasing - Diminishing
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No. 50 Minuetto
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No. 52 Unison Divided
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Bartok
J.=90
o Do o ple » ohe 2o PP e obe
Classical Guitar 1 (‘3 —— — I — P S i — —
e
8
P S f
T 0—1—2—3—2—1 2—3—4—3— 2 1—0 0
Classical Guitar 1 [ [A
B
o | AN L
Classical Guitar 2 ( s —u T a £ —N1—%
57 s
’ f
s
P S
T
Classical Guitar 2 1872_3_4 0 4—3 0—1—0 -3 o)
LJ
4 ]/,
A plhole o wlie 2 oloy, ) -q:\
. |V 4 | | | AN | N | | AN I/
GLIlt. 1 '\’\\T] | | | ] ] | | g 7 / 7 7 I | |4 7 7
e
8
P S sf mf
——3—4—5—6—5—4——5—6—T—6—5—4 3 4—5—6—7
||
Guit. 1 [ [A
B
o) pr—— .
it. 2 v - I, I J I I ,\\7ulk\qq L - 7
Guit. & _t:, 1 L L - 1 T—-T
8
sf
P S
—
Guit. 2 FA—0—1—2—3—2—1—2—3—4—3—2—1—{0 0 0—1—2—
D
L)

NN N [ L1



P prp—— s pp——
P
P
™ n_eﬂ o - k) p.ed a
P
Al e S S
S R\
Q_J |I..f <
Luu | K |
| I
4 0l m ||..‘ <
& A k3§ J
LnE iy
I T tiE
A s
il [ 1
1 11 1= 1|
_ |
- - )
Wv |
™~ =)
Jﬁ T I
< N ]
et =g
MA@US = o= <
* N— T
- . o o
3 3 3 3




Classical Guitar 1

Classical Guitar 1

Mikrokosmos
No. 57 Accents

Bartok

)i . = T

| P | | | | i
6 Ii&&&ﬁﬁﬁ#ﬁf’a =
’ Sf
F—32-0—3—3}2-0—3f2-0—0f—3-2-02 L G S B
A 2 2 2 2 22—
B

T s T R IR

| | = | N | - N i

y 4 .
i i o : :
Classical Guitar 2 wm%%%@bjﬂiﬁ%ﬁ
8
S
T s Fo-o—3f—32-0f—32-0f—0—3—F2-02
Classical Guitar 2 g 2 2 2 2 GO P B PR
L
N R N
; e 4t 33 > > -
o > o P 11 P | f o o
Guit. 1 3V, T I — I — ——1 - — |
) mf
= 0—2—5—4 25424 3 0—1—3——0——0—1—3——0——-0—1—3—1
I 3—3 3 3 3 3——1-]
Guit. 1 A
B
I O A I R N 1 T U O AT I O R AR
, IS . : b by P Cr — P
Guit2 ([l b o X T dadat T T oo THa TH g0 i i
%;%’I i L - - < H%ﬁﬁﬁ%
mf’
T 5 0 0 5
Guit. 2 (A T —02——20423——20-2-3 5} 0——0—
| =]




T 1y
iR * = M [T -
S L = [ s ]S = = |

7 B — |~ g ¢ g ﬂ
QL p — — 1 [Sg) _ HER, ) ) _— 7
wrwr st 7 | 1R ,G — T77e -

T T Il.f Ai.. — I— JL H—

X XIS L
H ¥ e <
» W —
NEEE <@ - T ni/. —_ _‘ LU _ || ~ _ EE Ai/‘
* B = mol= b 2] L
\NEEE 7 — L) ¢ ) |
aa | B T _ )
[ YR o _ —_ I 7
| L] < — u <+ | — ™~y g "l T =)
Wi — |IH &l — T " d e — || "
qr — |l [, D n 1N - II|1 %
i - Ly L= | |
[ YR =] —_ [ N — ..v [ [ (] _— 9 =]
L] - o — L) | — |
" J/. e N - =) — |
[ YR @ — ] || i _ T =) —_ i )
B T | Af.. | Af.. — L) o| — Al mTe =
f ] f
<t —_— | — -
| n— - =) N T
= | i T _ [T o] s
=) - L
[l 70 _— TTeA — JR— - _ zv S _ 41._ .71 IT aﬂ
— |4 | XY £ — S
[ J/. N~ .ﬂ R 4 n| — 7 ) ]
> — Ar. I I N — .71 _ ILIII o~ e A
| ] . f ]
rt Ll J/. ~ —_— DA =) — o Vi = — 8
[ YR o — — _ ||.4 N I\
4 N (L gl
T S| |— |/ < — R (] = f
, | L) o| — Ll ﬂ
T i T Tk N Ar — i W — e ol | — iR o
S = s || ]| |— | |
IR . T = ™ " it T
B _ P .f Aiw —_— I
LRI W 7 — -HH-- aﬁo P TTRA =) — TTe nﬂ — A4
3 Pl HH | A el — % °
3 1 N 7
_HR 11— iy L— [ !
| L JJ — BEE of| | — L - " % L | ]
] — | | i | \) ol — || T
= o R — o
huun T — i | | ~ ) "
Nl @ — N | — T — LU A~ k) nﬁ
ol — I o e Y = — o IR . II|T 4
H A ° _ Y o —
AL o - I o | — = || o — g 2]
AR NEa

> < o= 5 < Lo < e s D€+ |

[=))

TN N VAN N AN N
— — [e\] (q\] — -~ a —_ — . .
= = = e = = < = = . =
5 3 = 3 = = 5 = 3 5 5
O O &) O O O O O O O O




Mikrocosmos 79.

No. 58 In Oriental Style
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No. 59 Major and Minor
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Mikrokosmos

No. 62 Minor 6th's in Parallel Motion
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Classical Guitar 1
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First Term 87.
Step One
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In Steps Together
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Long and Short
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First Term 96.
A Brief Conversation
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Folk Melody
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